o0 2000000000000

0000 (000000000000 00 D2)

20080 80 180

1 0D0OOoO0Oo

1.1 00

1. K O shadow Rgs-coloring 0O 00O
multiset 0000 . 7
2. 3-cocycle
Fla,b,¢) = 2¢(a — b)(b— ¢)? \ \/
0000, 93(K)0000. e
K

12 00O

00 1.1 (quandle)
0000000000000 D0000 X0000OO +:XxX—>X0O0 (X,%)0 quandle0O0O.

Q1. axa=a (Va€ X).
Q2. Sp: X = X0 S,(x)=x+xa0000000S5,0000 (VaeX).
Qs. (axb)xc=(a*xc)x(bxc) (Va,b,ce X).

00,S8(z)0 z+"a000 (zx¢"00000000).

00 1.2 (quandle O type)
quandle X 0 type m 00000, min{n >0 |z+"a=xforany e,z € X} =mO00000000.

0. (dihedral quandle)
00 Z, 00000 axb:=2b—a 00 (Zp,*x) 000 Q1,Q2, Qs 0000, quandle 00 0. 000 order p O
dihedral quandle 000, R, 000. R, 0 type2000.

00 1.3 (Z,,-flow)
K O spatial trivalent graph 00O .

¢ : {edge of K} — Z,, x {edge orientation}/(s,0) ~ (—s,—0)
O0Z,flowOOOOO, KOODODODOOOOOODODOOODOOODOOOOOO
g.

KO Zpy,flowOOOOODO Flow(K;Z,,) 00O, KO ¢ € Flow(K;Z,,) O
00 o000 flowed spatial trivalent graph 000, K@ 0O0O.




00, X O type m O quandle 00, K®) O Z,,-flow ¢ 0 00 flowed spatial trivalent graph, D) 00O
diagram 00O O.
00 1.4 (shadow X-coloring)
diagram D) 0000, C : {arc of D®¥ } U {region of D¥)} — X 0 D) O shadow X-coloring [ 0 I
00,00 (1),(2), (3000000000,

(1) b (2) a (3) b

ax*x%h a ax%bh

|
IV

a a

000 a,be X, s,teZ,000 (00000000 s,¢t0s t000000).

00 D O shadow X-coloring 000000 Colx(D®)000. 0000 #Colx (D)0, flowed spatial
trivalent graph O invariant 000, 000 K®) O shadow X-coloring 0000000, #Cr’onX(K(*D)) ooo.
000 #Coly(K)00000000000.

#C,T;li(K) .= {#Colx (K®) | ¢ € Flow(K;Zy,,)} (as a multiset).

00 1.5 (quandle cocycle invariant ®;(K))
fO0X0OOOO,abc0000,00000000 quandle 3-cocycle D0 0.

3
3

f(a*ib,b7c)= f(a*ic,b*ic,c)zo.

i

Il
<
I
=

D) 0 shadow X-coloring C 000, D® O crossing 7 0 0 Boltzmann weight B(m;C) 00000000

oo .
s—1t—1

B(7;C) := sign(r) Z Zf((a x'b) +7 e, b+l ¢ c),

=0 j=0
000,s=0000¢=0000,B(r;C)=0000.00 B(C)00O00000OOO0.
B(C) := Z B(r;C)

7 : crossing of D(¥)

At AT,

b——|—— O c4————

z A

0000 &;(K®)ooooooooooo.
O;(K*)) = {B(C)|C € Colg,(D¥)} (as a multiset).
D00 ¢F(K)0D0D000000000.

@?(K) = {®(K®)) | ¢ € Flow(K;Z,,)} (as a multiset).



2 O00O0O00
2.1 shadow Rj3-coloring 0 0 00O

KO Zy-flowOOOUOOOOOODOODO.

Flow(K;Zg) = {K®tY | s,t,u € Zg, s+t +u =0 (mod 2)}
— {I((O,O,O)7 ];((0,1,1)7 }—{(1,071)7 K(LLO)}.

(=}
IS}
=

RN IR

=

ﬁk
\

|2

(0,0,0) KOLD
> K

|~

|=
|=

K(s,t,u)

~
<

ﬁ
\
ﬁ;
\

2.1.1 K©09 0 shadow Rs-coloring

() D0D00D00000D 300 arcO color O a,
000000000000 300 arcO colord b0 O
O (coloring0O0O (2)00D0).

(2) 00000000000 DoOOoOooOO, 00 flowOd
000000 a,b0 color D000 arcO00O0O. ODOO
ceRs0000ax’c=¢0000000,000 color a
O0000 e=b000000000.

(3) 0000000 arcO color000 a (=b)0000
0ooo0. 000 K090 300 trivial Rs-coloring K00
(@=0,1,2)000000.

lo

[[=}

00000000 arcO coloring 0000000, region O coloring 000 O. region O coloring 00 00O,
000 regionOd color 00O O0ODOO region O color 00O O O0OOOODO, shadow Rs-coloring 000, 00O
0 arc 0 Rs-coloring 000 30000. 000 #Colg,(KO00)=32000.

=

=}



2.1.2 K©LD O shadow Rs-coloring

b
() D0D00D00000D0 300 arcO color O a, 0 /
I

000000000000 300 arcO colord b 0O
go.

(2) flow 00 edge DO OO0 arcO0 color DO OO DOO
gbobooooog,obooogobooboboooobo.oog
ax°b=¢0000000,000 arcO colord a 00O
gooboooog.

(=}

(3)000 arcO color0000O0O. O0ODODO exb= “ b
al0c=2b—a000000,0000000000 g |
b

00 arcd colord 2b—a O 0ODO.

(4)00000,¢c*xa=b00c=2a—-b000,0O
0000000000 arcd color0 2¢—b0000,

2b—a=2¢-00000020—e0000000.

KON O g, b 20 —a0 coloring0 000000000, 900 Ry-coloring000. D000 a#b000,
%—a+#a,b0000000000. 00000, #Colg,(KO11) =33,

2.1.3 K O shadow Rs-coloring 0 00O
ooooooo KAoD gKL0) 0 coloring 0000, 0000 KO99 0000 trivial Rs-coloring O 0O O
—
000000000.00000, #Colg,,(K)0000000000.

#Coly, (K) ={#Col g, (K00, #Colg, (K1), #Col, (KOON), #Colp, (K19}
={3%,3%,3% 3%} = {9,9,9,27}.



2.2 quandle cocycle invariant ®¢(K)

trivial coloring 0 00000 diagram 0, 0000000 70000 weight B(r;C)000 0000. 000
B(C)D 000000, trivial coloring 000000 K©00  g10D 1100 ¢, 000 900 multiset 0
00.000 &;(K)000000 KoY oooooooooooo.

221 O00O0OO
0000000 shadow Rs-coloring C 0000, D00 weight B(C)OODOOO. O, R3O0 type2000
B(r;C)00000D0OOOODOOO.

B(T,C) - { sign(T)f(a,b, C) O (3 —t= 1)7

00 (Ooo).
N
N7 TN
Ma o 2] Izll
ﬁ D
2
" lﬁz &
V4
To

B(C) = B(11;C) + B(12;C) + B(13;C) + B(14;C) + B(715;C) + B(716;C)
=0+0+0+(—f(0,2,0)) + (—=£(0,0,2)) + f(0,2,1)
= (—0) 4+ (—0) + (—4) = 2 (mod 3).

222 OO
K©LY 0 shadow Rs-coloring C 00 20000000.
0000 weight 0OOD0OOO0O0O,0000000.

O (KO = {0,. 2,...,2}
H/—/ SN——

90 18 0

googo @?(K)DDDDDDDD.

(I)?( ):{(I)f(K(0,0,0)) (K(O,l,l)) P (K(l,O,l)) ® (K(Ll,o))}

= {00k {000 202 {00 08 {0 O3
9[] 9[] 18D 9[] 9D
= ({0 O {0, 0F {0101 {010, 2,2},

9D 9D 9D 9D 180



02 ¢=0,1,20000000000002r000000000

3 Boltzmann weight 0000000

Section 1 0 00 O, Boltzmann weight B(r;C)0000000000.
s—1t—1

B(7;C) := sign(r) Z Zf((a *'b) +7 ¢, b+ ¢ c),

i=0 j=0

At T,

b——|—— O e

: it

00 SectionO00O, 00000 Boltzmann weight 0000000,200000000000000000.



X O type m O quandle 00, K 0 o000 flowed spatial trivalent graph, D 000 diagram 00 0.

C 0 D® O shadow X-coloring 0 00. 0000 DWW O, DY OOOOO0D0DO0DO0O0000O0O0 diagram O
oo.

S
. . » S
b b b b
[a] laxb] |ax2b] las3b]
b c T T2 713 Tig4
@ bxc bxc bxc bxc
3 [axc] | [@=xb)=c] | [(ax2b)=c] | [(as3b)*c]
c i’ c Ty Ton T3 T4
bx2c bx2c bx*c b#2c
4 [ax’c] | [axb)#c] | [(axh)#c] | [(axb)éc
c T3, T30 033 T34

03 s=4,t=3

00 3.1 (Boltzmann weight)

D) 0 crossing 7 0 000, Boltzmann weight B(m;C) 00 00000000. 000 CO CO0000
0000 D® O shadow X-coloring 00O .

B(r;C) := sign(7) f(a, b, c),

c

[+ 7

b——|—— O e

}

O000000000,200 Boltzmann weight 000000000000 OOO.

s—1t—1

B(r;C) = ZZB(TZ‘J‘;C) = sign(r) ZZf((a *'b) #7 ¢, b+ ¢, c).

i=1 j=1 i=0 j=0



0000 3000,200 Boltzmann weight 000000000000,

4-13-1

B(r;C) = sign(r ZZf ((a+'b) + ¢, b+ ¢, c)

i=0 j=0
= f(a,b,c) + f(axb,b,c) + fla*x>b,b,c) + f(ax>b,b,c)
+ flaxe,bxc,c)+ f((axb)xc,bxc,c)+ f((ax*b)xc,bxc,c) + f(ax>b) xc,bxc, c)
+ flax?e,bx?c,c) + f((axb) % c,bxc,c) + f((a*? b) %% ¢,b+% c,c) + f((a*>b) %2 ¢,b %> ¢, )
= B(11,1;C) + B(112;C) + B(71,3;C) + B(11.4; C)
+ B(72,1;C) 4 B(72,2;C) 4+ B(72,3;C) + B(12,4; C)
+ B(73,1;C) + B(73,2; C) + B(73,3;C) + B(73,4,C)

34
=22 B0
1=1j5=1

(T



